


= XY 2 =Xl =(characters)2| LIS (sequence)
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>>> name = ‘apple’

>>> print(name[0])

lal

>>> school = ‘Ot LSt W’

— i (@)
>>> address = ‘G5 ZTUA| 55 S5




=
Sxtgol 7o
a3 X 2t
Str “apple” “lemon” «SHE LS
str[O] “@” “| %1%
str[1] “0” “o” «En
str[2] “p” “m” “CH”
str[3] “” “o” «Sh
str(4] “o” “p? T
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>>>s1 = ‘Cutty’
>>>s2 = ‘Cat’
>>>53 =51 +52
>>> 53
‘CuttyCat’

>>>51%3
‘CuttyCuttyCutty’

>>> ‘@’ * 10
‘PE@@@@@@@’



= AIE 0| A AfE o= ALK (2)

* 'Tllll-zllgﬂ-xl" >, >=,%,<s, =5 1=

>>>s] = ‘cat’
>>>s2 = ‘Cat’
>>>s]==152
False

>>> s]=="‘cat’
True

>>>s1 > ‘bird’
True



Xt (string), len()

=3
- LiFE Zr2M 248 S 780 A S e

—_

£>> fruit = 'banana’ \

>>> len(fruit)

6

>>> |length = len(fruit)

>>> last = fruit[length]

IndexError: string index out of range

>>> last = fruit[length-1]
>>> |ast
a

\_ /




/fruit="apple” ) e
===== RESTART
index = 0 PY =====
while index < len(fruit) : d
letter = fruit[index] E
print(letter) |
index = index + 1 b
/ e
/fruit="apple” A

for ch in fruit :
print(ch)




=XI'E XF2 7| (String Slice)

225 ZZ(slice) 0|2t &
= A2 X (character)& 1 E= A1}

/>>> s = 'Monty Python' \

>>> s[0:5] # index 0,1,2,3,4
Monty

>>> 5[6:12] # index 6,7,8,9,10,11
Python

>>> 5[1:3] # index 1,2

on

>>> fruit = 'banana’

>>> fruit[:3] # index 0,1,2

'‘ban'

>>> fruit[3:] # index from 3 to last

" /




2= len()AI- & 2HC}
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input_str = input(EXt 21: )
| = len(input_str)

index = 0
e
while index < |: | | —==== RESTART: E:/1 Works/
print("s[0:", index+1, "]1=", input_str[0 : index+1]) py =====
index = index + 1 2 2= strawberry
s%ﬂ: 1 %: 3
s |0 2 |= st
(N s[0: 3 ]= str
s[04 ]= stra
s[0: 5 ]= atraw
s[00 6 ]= strawb
s[0: 7 ]= strawbe
s[0: & ]= strawber
5[0 9 ]= strawberr
s[0: 10 ]= strawberry

K
K
K



String methods, .upper()

e H|2&E (method)= Q==

HI

=

al

« O] MO A 2t==(function)2t FAl
« A E%I= 8 (syntax)= LIS
e HeHZ M HAEZ AL

o= —
« HIAE 2 upper() & AIE
- = EXAE HEAR Hel

N T ——

>>> word = 'banana’

>>> new_word = word.upper()
>>> new_word

BANANA

-

\

ZF
HA

=3
=

o

2}

| -



String methods, .find()

- =XIE L{of| EXHSI= =XIE RS
&= X7 EX o= fl X (index) E EE{S

/>>> word = 'banana’ \

>>> index = word.find('a")

>>> index

1

>>> word.find('na")

2

>>> word.find('na', 3) #SFHM =At= &7] A|ZSH= index number

4

>>> name = 'bob’

>>> name.find('b’, 1, 2) # MY ==Xt= O{C|7FX] &2 K| X[HSt= index number

\_ /




String Methods

A 2O £XH2 HHRCE

OfL[H AA

.capitalize() .isupper() 2= Q47O ZXtO|H & OfL|H
HZ
.count() A8 oM =Xxt+=& Al | join() ZAEE X ELE
Cf
find() H= ZAHEE ZXEEO| Al | lower() A FAFE HHRCH
A5t= MRS HOr=LE
.isalpha() D= QA7 LOBIO[™H & | replace() .replace(old, new [,count])
OfL|™H AHA CHE 2AE 2 HHY =0
isdigit() BEQATFXO0[HE | split()
OfL|™H AHA
.islower() D= QAT AFXO[H F | swapcase() | L&At &2FAE, AFA= Ol &
OfL|®H HZA Xt2 Hp#Ch
isspace() REQAJFSHMOIHE, | .upper() A EXE HHECG




in operator (21 | 0| )

4 )
>>> '3" in 'banana’
True
>>> 'seed' in 'banana’
False
>>> ‘ana’ in '‘banana’
True
\ %
e === in_both{'apples', 'oranges')
#ete AL |
3
def in_both(word1, word?2) : g
for letter in word1 : P

if letter in word? :
print(letter)

.

in_both(‘apples', 'oranges’)

- J
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AS 24 2

4

Input_Str = input("E Xt 2/=: ")
Input_find = input("&OF HHE EAE ")

find_Length = len(Input_find)
Index = Input_Str.find(Input_f

if Index == -1

ind)

print(" HHE 2Xt7+ gl Q1"

else:

beforeStr = Input_Str[0 : Index]

changeStr = Input_Str[Index : Index+find_Length].upper()

afterStr = Input_Str[Index+find_Length : ]
result = beforeStr + changeStr + afterStr

\ print(result)

9
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aAE Y
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Ad&=H 3, A EL A}

str = input("=AtE &= ") \
uppercount = 0

lowercount = 0
etccount = 0

swapstr = strswapcase()
print("CH&FAHE HHE Z1F = ", swapstr)

for ch in swapstr : o )

i ch.isupper( - ;:i_ﬁgsmmz E:/1_Works/2017Hor k/KMooG:
_uppercount +=1 2xRE 2= | love PYTHON|

elif ch.islower() : CHA2AE "2 Z23F = | LOVE python! |
lowercount +=1 HEXR ZHzw= g

else : LA s 7
etccount +=1 CH A2 A OfH 2AF A== 4

e |

, uppercount)

L
print("i—'?'-x A== ", lowercount)
Wt("tﬂ = At Of &l —-—Xf M= ", etccount)
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